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 ECO-07  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

February, 2021 

 

ELECTIVE COURSE : COMMERCE 

ECO-07 : ELEMENTS OF STATISTICS 

Time : 2 hours Maximum Marks : 50 

  (Weightage : 70%) 

Note :  There are three sections. All are compulsory. 

SECTION A 

1. Fill in the blanks with appropriate words as 

given in the brackets :   51=5 

(a) _________ statistics refers to those methods 

which are helpful in drawing inference about 

the characteristics of the population of 

sample data. (Descriptive/Inferential) 

(b) _________ sampling method is an example of 

probability sample. (Stratified/Quota) 

(c) When errors tend to nullify each other, they 

are called ________ errors. (Biased/Unbiased) 
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(d) __________ is a method of data collection in 

case where informants are illiterate. 

(Schedule/Questionnaire) 

(e) __________ is a measure of trend and cyclic 

variations. (Average/Moving average) 

2. State whether the statements given below are 

true or false : 51=5 

(a) When Q1 = 60; Q3 = 96; and median = 80, 

the coefficient of skewness is – 0.11. 

(b) Standard deviation is the root mean of 

deviation about arithmetic mean. 

(c) Harmonic mean is the best measure of rates 

and speed in all situations. 

(d) Determination of the value of mode could be 

possible through ogives. 

(e) A discrete variable carries a fractional value. 
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SECTION B 

Attempt any two questions from this section. 

3. (a) Following is the distribution of marks obtained 

by 50 students in Accountancy. Calculate the 

median marks. 

Marks No. of Students 

0 – 10 4 

10 – 20 6 

20 – 30 20 

30 – 40 10 

40 – 50 7 

50 – 60 3 

(b) Construct a sub-divided bar diagram to 

represent the following data :  

Item of 

expenditure 

Families (<) 

A B C 

Food 140 120 150 

Education 100 150 130 

Miscellaneous 300 350 420 

  10, 5 
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4. Find the mode from the following data by 

preparing Grouping table and Analysis table : 15 

Profit  

(< in lakh) 
No. of Companies 

0 – 10 10 

10 – 20 15 

20 – 30 18 

30 – 40 10 

40 – 50 10 

5. (a) How do you make a choice of suitable 

measure of central tendency ? 

(b) State the uses of Geometric mean.  10, 5 

 

 

SECTION C 

6. Distinguish between any two of the following : 5, 5 

(a) Primary data and Secondary data 

(b) Descriptive and Inferential statistics 

(c) Histogram and Historigram  

(d) Uni-variate and Bi-variate tables 
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 B©.gr.Amo.-07  

ñZmVH$ Cnm{Y H$m`©H«$_ 

gÌm§V narjm 

\$adar,  2021 

EopÀN>H$ nmR²>`H«$_ : dm{UÁ`  

B©.gr.Amo.-07 : gm§p»`H$s Ho$ VÎd  

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

  (Hw$b H$m : 70%) 

 ZmoQ> : Bg_| VrZ IÊS> h¢ VWm g^r A{Zdm`© h¢ &  

IÊS> A$ 

1. H$moîR>H$m| _| {XE JE eãXm| _| go Cn`wº$ eãX Ûmam [aº$ 
ñWmZm| H$s ny{V© H$s{OE & 51=5 

(H$) _________ gm§p»`H$s H$m VmËn`© CZ {d{Y`m| go h¡ Omo 

à{VXe© g_§H$m| H$s g_{ï> H$s {deofVmAm| go g§»`mË_H$ 

{ZîH$f© kmV H$aZo _| ghm`H$ hmoVr h¡ & 

                        ({ddaUmË_H$/{ZîH$fm©Ë_H$) 

(I) _________ à{VM`Z {d{Y g§^m{dVm à{VM`Z H$m EH$ 

CXmhaU h¡ &  (ñV[aV/Aä §̀e) 

(J) O~ {d^«_ Amng _|, EH$-Xÿgao H$mo {ZañV H$a XoVo h¢, 

Vmo CÝh| _________ {d^«_ H$hm OmVm h¡ & 

                                (A{^ZV/AZ{^ZV)  
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(K) _________ g_§H$m| Ho$ g§J«hU H$s EH$ Eogr {d{Y h¡ 

{Ogo Eogr pñW{V _| AnZm`m OmVm h¡, O~ gyMZmXmVm 

A{e{jV hmoVo h¢ &  (AZwgyMr/àíZmdbr) 

(L>) _________ CnZ{V (trend) Ed§ MH«$s` (cyclic) 

{d{^ÞVmAm| H$m EH$ _mn h¡ & 

                                       (_mÜ`/Mb _mÜ`) 

2. `h ~VmBE {H$ {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ghr h¡ 

Am¡a H$m¡Z-gm µJbV :    51=5 

(H$) O~ Q1 = 60, Q3 = 96; VWm _mpÜ`H$m = 80 h¡, Vmo 

d¡få` JwUm§H$ h¡ – 0.11.  

(I) _mZH$ {dMbZ (standard deviation) g_m§Va _mÜ` 

H$m _yb {dMbZ h¡ &  

(J) hamË_H$ _mÜ` g^r pñW{V`m| _| Xam| Ed§ J{V H$m 

gdm}Îm_ _mn h¡ &  

(K) ^y{`ð>H$ (mode) Ho$ _yë` H$m {ZYm©aU Mmn {dH$Um] 

(ogives) Ho$ _mÜ`_ go g§^d hmo gH$Vm h¡ &  

(L>) EH$ {d{dº$ (discrete) Ma H$m Am§{eH$ (fractional) 

_yë` hmoVm h¡ &  
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IÊS> ~ 

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE &$ 

3. (H$) boImemñÌ _| àmßV 50 {dÚm{W©`m| Ho$ A§H$m| H$m {dVaU 

{ZåZ{b{IV h¡ & _mpÜ`H$m (median) kmV H$s{OE &    

A§H$ {dÚm{W©`m| H$s g§»`m 

0 – 10 4 

10 – 20 6 

20 – 30 20 

30 – 40 10 

40 – 50 7 

50 – 60 3 

(I) {ZåZ{b{IV Am±H$‹S>m| H$m à{V{Z{YËd H$aVo hþE  

Cn-{d^m{OV XÊS> AmaoI (sub-divided bar 

diagram) V¡`ma H$s{OE :  

ì`` H$s _X 
n[adma (<) 

A B C 

ImZm 140 120 150 

{ejm 100 150 130 

{d{dY 300 350 420 

  10, 5 
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4. {ZåZ{b{IV Am±H$‹S>m| Ho$ AmYma na dJuH$aU Vm{bH$m 

(grouping table) VWm {díbofU Vm{bH$m ~ZmH$a 

^y{`ð>H$ (mode) kmV H$s{OE : 15 

bm^  
(bmI < ) 

H§$n{Z`m| H$s g§»`m 

0 – 10 10 

10 – 20 15 

20 – 30 18 

30 – 40 10 

40 – 50 10 

5. (H$) Ho$ÝÐr` àd¥{Îm H$s g_w{MV _mn Ho$ {dH$ën H$m M`Z 

Amn H¡$go H$aVo h¢ ?$  

(I) JwUmoÎma _mÜ` (geometric mean) Ho$ Cn`moJm| H$m 

CëboI H$s{OE &  10, 5 

 

IÊS> g 

6. {ZåZ{b{IV _| go {H$Ýht Xmo  _| A§Va ~VmBE : 5, 5 
(H$) àmW{_H$ g_§H$ VWm {ÛVr`H$ g_§H$  

(I) {ddaUmË_H$ VWm {ZîH$fm©Ë_H$ gm§p»`H$s 

(J) Am`V {MÌ VWm H$m{bH$ {MÌ 

(K) EH$ Mar` (Uni-variate) VWm {ÛMar` (Bi-variate) 

Vm{bH$mE± 


